Year 4 Friday 5™ March Mrs Donegan’s Maths (6 pages)

Using symbols for pounds and pence

Last week quite a few of you had trouble with writing pence using the pound sign,

REMEMBER Money amounts in pounds and pence always need 2 decimal places
to show the pence, so you can never have £3.3 or £50.5 .

1. First, use these lines to practise writing the £ symbol. Fill each line. Keep them small.

2. Complete the table to show amounts of less than £1. The first one is done for you —

check you understand it.
Don't forget to use the right symbol {p or £} in your answer. You need 2 decimal

places in your pound answers.

Amount in pence {p} Amount in £ {pounds)

2p £0.02

20p

£0.06

£0.50

7p

30p

9p

8p

ip

10p

80p




Year 4 Friday 5™ March Mrs Donegan’s Maths (6 pages)

Making money amounts from combinations of coins {1p, 2p, 5p, 10p, 20p, 50p, £1, £2)

3. You only have 2p and 1p coins. How can you make 4p? Find 3 ways (it doesn’t matter
in which order you have the coins).

4. You only have 2p and 1p coins. How can you make 7p? Find 3 different ways.

5. You have 3 coins which add up to 17p. What are the coins?

6. You have 3 coins which add up to 26p. What are the coins?

7. You have 4 coins which add up to 85p. What are the coins?




Year 4 Friday 5" March Mrs Donegan’s Maths (6 pages)

8. Fiil in the table to show how to make sums of money with just 3 English coins. The
first one is done for you.

Amount Which 3 coins?

£1.25 £1, 20p, 5p

£1.70

£2.51

£3.01

£4.20

£4.02

£5.00

9. How many 50p coins do you need to make £4 ?
10. How many 20p coins do you need to make £1 ?

11. Can you make 50p using 4 coins? Explain how to do it.

12. Bob collects all his copper coins for the FONDS Coin Run.
He has 15 two pence coins and 17 pennies. How much is this in total?

Use this space for working-out,

13. Bob’s Grandma gives him some copper coins to make his amount up to 50p. What
coins could she have given him? (There are two possible answers).




Year 4 Friday 5" March Mrs Donegan’s Maths (6 pages)

14. Tom is on holiday. He buys a postcard.

He pays exactly 19p with five coins.

What could the five coins be?

15. Carla wants to send this letter.

Katie Brown
Littletown Lane
Anyvtown

It will cost 65p to send.

Carla has these stamps: and

How many of each stamp does she need?

20p and 5p



Year 4 Friday 5™ March Mrs Donegan’s Maths (6 pages)

Some of you have asked for harder maths — here are two pages of it! Don’t try and do it all
in your head. Write down whatever is helpful to you.

Adam went shopping with these coins in his pocket.

His bus fare was £1.50.
He paid with four coins exactly.

He bought a magazine for £1.70
and he didn't get any change.

Then he bought a CD for £1.80
and got one coin back,

How much money had he left?

Use this space to jot down ideas and working-out.




Year 4 Friday 5% March Mrs Donegan’s Maths (6 pages)

Maolly’s Grandma collects 50p coins.

On Saturday she gives Molly ten of these coins,

Molly puts the cains in her empty purse and goes shopping.
She uses some of the coins to buy a book for £3.59.

How much change does she get?

Next she buys some stickers that cost 90p.

How much money does she have now?

Molly wants to buy a lolly for her little brother. Lollies cost 60p.

Has she enough money left to buy a lolly?

Use this space to jot down your ideas and working-out.
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Year 4 Friday 5" March 2021 Mrs Donegan’s Science {4 pages)

This is a fun activity to do for the last Friday of home learning.

You will need the paper helicopter template and some paper of your own (I have put a
couple of extra sheets in the printed home learning pack) and some paper clips.

The important thing to do today is to think about what effect the changes you make have on
the way the paper helicopter falls — does it take more time or less time, does it fall in a
different way?

1. Drop a piece of flat paper and a piece of scrunched-up paper. Time how long they
each take to fall to the floor,

2. Make your first paper helicopter.

Use the template provided. Then drop your helicopter until you are happy with the way it is
working.

Does it turn clockwise? Or anticlockwise? ...

How many seconds does it take to reach the ground?

3. Now for your challenge!

Change something about your helicopter. Can you adapt it so it stays in the air for the
longest possible time?

Variables you may wish to think about altering are:
* length, size or shape of the rotor blades;
* weight i.e. number of paper clips;
* the size of the helicopter — you could scale your version up or down.

Can you think of any other changes that you can make?




Year 4 Friday 5" March 2021 Mrs Donegan’s Science {4 pages)

4. Design, make and test a prototype of your design.
Make your first test drops.

How long does it take the helicopter to drop to the floor?
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How does this compare with the first drop of the original helicopter?
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5. Can you suggest any improvements to your design?
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Paper Helicopter Instructions

Cut along the solid lines and fold along the dashed lines.

KD
cut
V' N
bend bend
forwards backwards
e
B ——] m:g"
| |
[ [
| |
fold [ J
| |
C———-’ | | “-—-—-D
| |
____________ )
| [ ' secure with
L | 0 Fold = paperclip
rotor

W twinkl.co.uk




Paper Helicopter Template

twinkl.co.uk



Year 4 Friday 5™ March Mrs Donegan’s Maths (6 pages) ANSWERS

Using symbols for pounds and pence

Last week quite a few of you had trouble with writing pence using the pound sign.

REMEMBER Money amounts in pounds and pence always need 2 decimal places
to show the pence, so you can never have £3.3 or £50.5 .

1, First, use these lines to practise writing the £ symbol. Fill each line. Keep them small.

2. Complete the table to show amounts of less than £1. The first one is done for you —
check you understand it.

Don't forget to use the right symbol {p or £) in your answer. You need 2 decimal
places in your pound answers.

Amount in pence (p) Amount in £ (pounds)

2p £0.02

20p +0-20

6 . £0.06
50 I £0.50
7p Yo o7
30p _EO X SO

o £0o- 04
8p £0 08
1p fo-0|
10p PO 10
80p £0-80




Year 4 Friday 5™ March Mrs Donegan’s Maths (6 pages) PONSWETRS
Making money amounts from combinations of coins (1p, 2p, 5p, 10p, 20p, 50p, £1, £2)

3. You only have 2p and 1p coins. How can you make 4p? Find 3 ways (it doesn’t matter
in which order you have the coins).

Devi’t ounk  ounsygeds
Wit oot 0 soenne

2 - 2
e ¢ COINS v o~ ddfperent
9 rvoes .,

P - \P ay \P 6.3. Zfﬂd\().\,\() = \P+1P+2F
bop+lpsiprip Tﬁ@“ﬁ e Sanee

4. You only have 2p and 1p coins. How can you make 7p? Find 3 different ways.

2pt2p+2p+ (p ov Tx\p %gp\/\ don 't
Wie onwy ZP LOMNS .
2 plprlptipr lp+lp
ZP +- ZP + \p i \io"" ‘p
5. You have 3 coins which add up to 17p. What are the coins?
{0 % 5 p Q-P o
6. You have 3 coins which add up to 26p. What are the coins?

7. You have 4 coins which add up to 85p. What are the coins?




Year 4 Friday 5 March Mrs Donegan’s Maths (6 pages) ANSWE RS

8. Fillin the table to show how to make sums of money with just 3 English coins. The
first one is done for you.

Amount Which 3 coins?

£1.25 £1, 20p, 5p

£1.70 + t S'OP , ZO()
£2.51 {2/ SOF: lp
£3.01 ﬁz/ +1) iF
£4.20 {2} :f_’z_l Zop
£4.02 f:?_} t2 Lp
£5.00 —[’;2‘ + 2 £

9. How many 50p coins do you need to make £4 ? 8
10. How many 20p coins do you need to make £1 ? 5

11. Can you make 50p using 4 coins? Explain how to do it.

l@prlap, 6{;, 69

12. Bob collects all his copper coins for the FONDS Coin Run,
He has 15 two pence coins and 17 pennies. How much is this in total?

Use this space for working-out.

1S % 2p (dowde 15)=30p
| 7 penmes = 17p
3o+17= &'

13. Bob’s Grandma gives him some copper coins to make his amount up to 50p. What
coins could she have given him? (There are two possible answers).

2p e NI Zpoad lp., or 3 pennws (3% 1p)
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14. Tom is on holiday. He buys a postcard.

He pays exactly 19p with five coins.

What could the five coins be?

10p e 20 r lp

15. Carla wants to send this letter.

Katie Brown
Littletown Lane
Anvtown

It will cost 65p to send.

Carla has these stamps:
How many of each stamp does she need?

3 20p and | % s5p

Bt ore
covredt .



Year 4 Friday 5™ March Mrs Donegan’s Maths (6 pages)  ANSWERS

Some of you have asked for harder maths — here are two pages of it! Don’t try and do it all
in your head. Write down whatever is helpful to you.

Adam went shopping with these coins in his pocket.

His bus fare was £1.50,
He paid with four coins exactly.

He bought @ magazine for £1.70
and he didn't get any change.

Then he bought a CD for £1.80
and got one coin back.

How much money had he left? 2.0 o or £0-20 (oveept W)uf
CUNEWEr ) |

Use this space to jot down ideas and working-out.

Buw fove musr have used the 41, 20p 20p  ord 10p Conis |
Yy Jneoe oWk, Thue aves & cownst t2 E£1,50, 20p.
He nuast have wsed the 1 500 and 20p ov Uns magozine ,
Crms Those k. This @aves him wibn owly o 2 o,
Re spends e 12 wm o fne L1180 CD and ga» ove
o boh

12 ~ ti°§0 = £0 %o o 20p.
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Molly's Grandma collects 50p coins,

On Saturclay she gives Molly ten of these coins.

Molly puts the coins in her empty purse and goes shopping.
She uses some of the coins to buy a book for £3.59. *

How much change does she get? b ‘,p

Next she buys some stickers that cost 80p.

How much money does she have now? 5 lP

Molly wants to buy a lolly for her little brother. Lollies cost 60p.

Has she enough money leftto buy alolly? N0

W\é\k{xj oy oéﬁ]—(r 3 (ons
R

selkec, wivdia b
t4.00.
N sihe g &l p+ 50p150p
woa o B
Lwt—90p = £lp
( Counk wp Ao R PR o B e
40p) .

Use this space to jot down your ideas and working-out.
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